EAGRAROBREERT — 2 N— ABISH —F

202058280 (K) S5EIEIMH2H

m C2— ¥5%4m®t (xwlw | mEmml - |5 @) o s
[x&<£] 1 % :500,000 @  23#&:140,000 @ 3 #&:70,000 @ 4 3#%:50,000 ™ . 5 7 :40,000 [
B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
N . HHMNE :31. -1-1- . — FTFHS (EE)
1155 {FdF v > 4 4 e 1(3_1)5 1-1-1-1 | 40.5 1 ;1_521) AR
/G UZXN B:Ly KUy TR HE77— L4
3 AKX H :32. —7-6- X = HEM—RR (EH)
s Ry qmFp— b 4 8 28 1(332)0 7-7-6-6 | 39.8 2 (4_657) %?m;;
L:BALINT Ry TZX B:ZAAA by Ba BE
= . 4 5 | ERK 1:32. 6-6-4-4 | 40.1| — 4 474 | SBTHE (FERR)
3y 2 77 hx2 56.0 (7€) (-1) ‘Eﬁfﬁﬁz
RiFLTINZ S B:v5%>1 BRES
< = LLE#EAR : F3E = shixiE (EH)
alil1|vaze—7 4 6 i) 1.(342).7 3-3-3-2 | 41.2 5 <4+718) Ji L
L:O—-YX1> 214 B:Fa7L BH #78
S —: B4 | HE— 1:32.8 8-8-6-5 |40.5| — 8 483 | BEES (EH)
] 3 KRR Rt 54.0 (7E) 1) | @R Tr-xtEvar
L:vavFrehr7 B4V —FU2R SERS
e . Bt — :33. -10-9-7 | 40.8 | — KEIER (Tl
6N 4|7 ~/N—INR i 6 e 1 (343)4 10-10-9-7 | 40.8 10 (4_613) e
RF—TITUILT BrA44vR TS
. a0 . —0_0_ — HHEEE (AMR)
718110 Ry 443Ky % 5 an (13.314/.20> 2-2-2-2 | 42.8 3 (4_5:)) it
RFLTINZ S B R4 HTS KIS
3 4 4 | FEBKX 1:34.8 9-9-10-9 |42.3| — 9 384 | KBABER (FEH)
glzl 73 a<wAq 54.0 (5) 1) | PIE—
R:IAY>759va BiYa¥aveny Kk W
- = FHE+ :35. ~5-8~ . — FEZ (Fh)
9189 {F—tL =54 47 55_05 1(335)3 5-5-8-10 | 43.1 7 (434) ]
L:b—t>TS54 b Bib—trEL=FT1 BREHM IXT177—L4
: 4 o6 | B 1:36.0 4-4-5-8 | 44.0| — 6 483 | BM== (Em)
10l7l8|Y7+—FK 56.0 @) © |HES
R:FxLTANZN B:hY—F H—L—- T vIN> - Ty—LBERS
@ 1 —F—@EBIEf
1T=7r= 5,10,1,8,9,2,6,3,7,4
23—+ — 5,10,1,8,9,2,6,3,7,4
Jal=zr= 5,10,1,2,8,(3,6),9,4,7
43—+ — 5,(1,10),2,3,6,4,8,7,9
[ /N
B 5 110 714K 5-6 190M e E 5-6 300 JEE 2-5-6 950M9
B B 5 1004 2=l 250M B = 5-6 360M 3B 5-6-2 2,030
6 120 2-6 770M B H 5-6 410M
2 1509

ARICOVWTRDTEEERROODE. TR LI,




